LAUMAS FR 85 & 45 FR S A5 Bt TF-500kg

g

TF-500kg

TF-2000kg

R

AISI 304 REEEN (*2000 Z: FiiAS Ny PIATF2000 Z F1 CuBTFZ HIBEEFANM ) I3 Bk, Aok
. R TESEE: E AISI 304 NEEIAIG I B EAi Sk, DAMERESL AT .
T BRI -

I BT 7 4 500/2000 A )T

AN

) 1240372015

fev. 00 de

PIATF2000 PIATF2000Z

A\mmzu_fs L il
4ot 1.4

&—o q}|
M I

PIATF
|
2 Fa n T D
o hewy
2% M12x1.75
Mz
s
~ 3 Fan)
e _[P—° v
! _lml 130 |1ﬁ|__
Section B-B
CERIH
10| 2s 88
150
ANTIVEO (M12x1.75,
g‘j‘& ) POSSIBLE PPV UPER PLATE POSITIONS
==
2|
=
“*n— M12 = I E_[° i
; °d (o | 3| o
Q @ o o @ Ll

The Company reserves the right to make changes ta the technical dota, drawings and images without notice.



During the transpert and installation the lock (*) must touch under the
load cell. After installation, move the lock away from the load cell.
Interconnect the plates to the earthing.

In case of structura with four-point support, if one-point does not touch
the compression joint, you must proceed to insert a shim before fixing
the bolts.

ANTIV4D (M12x1.75) PAGE

TF2000/ TF20002

ANTIV4O (M12x1.75) [ maer |

[ Il 1 e

ioad cell ‘.

113

PATF2000/-2

PIAGP
- (L;.) 213 C}
\axo13 o]
sl 8 e
N
I B i}
o o7 o
15 | %0 |15
120
oF |
= A
—
2
@34
BLOCTF
BLOCT ., oo BLOGTFZ
-nE ! w
= SN = i, O A5,
o g - s




